-

I >
1
=l
|
P P12 > ~ I
P10 11 |
|
z b Py l0ps PML
P '> |
T P fie
y Py, 1]
Py 2P
Py, L aps ]
2mift Py 29T ]
— Tl i
Uy = doe”™" L AP
) [>
>
0.010 0.010
h, =0Ns |h, =50000Ns]
0.008 - Pl 0.008 - Pl
------ P :;n - Py
~—~0.006- Ps —~0.006H} | P;
~— q P4 ~— | ““‘ P4
"3 0.004+ i N J 3 0.004+ 1
1 | ‘\‘} | ‘;
0.002+ ‘ ‘ 0.0021 || |
™ | 11
]
0 e L 1 L L L | S . o e— O;‘Lkg,,h;; i e e o e ——
0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40
f(Hz) f(Hz)
0.010 0.010
h, =0Ns |h, =50 000N s |
0.008+- P5 0.008 — P5
------ P6 J“ Tttt P6
—0.006 P7 00061\ | P7
N ~ P8 — ‘} | “\‘ P8
3 0.004+ | S ooy |||
| [ | \ 11 “
0.002- ‘ 0.002H | |
\ | H‘: ‘
> ‘\ M‘ 1‘ i
0 1 L L L 1 1 1 (0] I | I — ! 1 L L ! !
0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40
f(Hz) f(Hz)
0.010 0.010
h, =0Ns |h, = 50000 Ns|
0.008 - Pg 0.008 - Pg
|
""" Pio \ o Py
~—~0.006~ \ Py 00061} | Py
o 4 ~ P]_2 - ‘i “\““‘ P]_2
" 0.004+ | | " 0.004 ~” I
j | \V\ 1‘ |
0.002- || \ 0.002(] || |
U (1
0 L | L 1 L S S SR 0!!‘,1",::A::,::,J:::::L;::::I:::,::I::,::;:,:f;l::::::
0 5 10 15 20 25 30 35 40 0 5 10 15 20 25 30 35 40

f(Hz)

As in Fig. 6 of the paper, but for different points of the structure, indicated
at the top. We note that in the diagrams on the right the responses of
the structure at different points are very similar, hence the curves almost

coincide.



